Seminar on Fixed Point Theory Cluj-Napoca, Volume 3, 2002, 183-188 http://www.math.ubbcluj.ro/~nodeacj/journal.htm

GRONWALL TYPE INEQUALITIES VIA SUBCONVEX SEQUENCES

SZILÁRD ANDRÁS

Department of Applied Mathematics Babeş-Bolyai University, Cluj-Napoca, Romania E-mail: andrasz@math.ubbcluj.ro

Abstract. The sequence $(a_n)_{n\geq 1}$ is subconvex if there exists a natural number $p\geq 1$ such that $a_{n+p}\leq \sum_{i=0}^{p-1}\alpha_i \cdot a_{n+i}$, for all $n\geq 1$, where $\alpha_i\in(0,1)$, for $i=\overline{0,p-1}$ and $\sum_{i=0}^{p-1}\alpha_i\leq 1$. In the first part of this note we prove an abstract Gronwall type inequality which is a generalization of theorem 4.1. from [12]. In the second part we give some applications and in the third part we give discrete analogous for one of the applications. **Keywords**: abstract Gronwall lemma, Picard operator.

AMS Subject Classification: 34A60, 45D05.

1. An abstract Gronwall inequality

The sequence $(a_n)_{n\geq 1}$ is subconvex of order p if $a_{n+p} \leq \sum_{i=0}^{p-1} \alpha_i \cdot a_{n+i}$, for all $n \geq 1$,

where $a_i \in (0,1)$, for $i = \overline{0, p-1}$ and $\sum_{i=0}^{p-1} \alpha_i \leq 1$. A sequence $(a_n)_{n\geq 1}$ is subconvex if there exists $p \geq 1$ such that the sequence is subconvex of order p. The sequence $(a_n)_{n\geq 1}$ is a convex sequence if there exists a natural number $p \geq 1$ such that $a_{n+p} = \sum_{j=0}^{p-1} \alpha_j \cdot a_{n+j}, \forall n \geq 1$, where $\alpha_i \in (0,1)$, for $i = \overline{0, p-1}$ and $\sum_{i=0}^{p-1} \alpha_i = 1$. In [1]

the author proved the following theorem:

Theorem 1.1. a) Every positive subconvex sequence is convergent.

183

b) The limit of the convex sequence
$$(a_n)_{n\geq 1}$$
 which satisfies the relations
 $a_{n+p} = \sum_{j=0}^{p-1} \alpha_j \cdot a_{n+j}, \ \forall \ n \geq 1, \ where \ \alpha_i \in (0,1) \ for \ i = \overline{0,p-1} \ and \ \sum_{i=0}^{p-1} \alpha_i = 1, \ is$
 $\lim_{n \to \infty} a_n = \frac{\lim_{n \to \infty} c_n}{\sum_{j=0}^{p-1} \beta_j} = \frac{\sum_{j=0}^{p-1} \beta_j \cdot a_{j+1}}{\sum_{j=0}^{p-1} \beta_j},$
where $\beta_k = \sum_{j=0}^k \alpha_j, \ for \ 0 \leq k \leq p-1.$

These properties were used to prove some fixed point theorems from [4]. In this section we generalize the following theorem given by Rus [12]:

Theorem 1.2. If X is an ordered metric space and $A : X \to X$ an increasing weakly *Picard operator, then we have the following implications:*

a) If $x \in X$ and $x \leq Ax$, then $x \leq A^{\infty}x$; b) If $x \in X$ and $x \geq Ax$, then $x \geq A^{\infty}x$, where $A^{\infty}x = \lim_{n \to \infty} x_n$ and $x_{n+1} = Ax_n$ with $x_0 = x$.

Our main theorem is:

Theorem 1.3. If X is an ordered metric space and $A: X \to X$ an increasing weakly *Picard operator, then we have the following implications:*

a) If
$$x \in X$$
 and $x \leq \sum_{i=0}^{r-1} \alpha_i \cdot A^{i+1}x$, then $x \leq A^{\infty}x$;
b) If $x \in X$ and $x \geq \sum_{i=0}^{p-1} \alpha_i \cdot A^{i+1}x$, then $x \geq A^{\infty}x$,
where $A^{\infty}x$ is defined as in theorem (1.2) and $\alpha_i \in (0, 1)$.

where $A^{\infty}x$ is defined as in theorem (1.2) and $\alpha_i \in (0,1)$, for $i = \overline{0, p-1}$ with $\sum_{i=0}^{p-1} \alpha_i = 1$.

$$A^k x \le \sum_{i=0}^{p-1} \alpha_i \cdot A^{k+i+1} x,$$

for $k \in \mathbb{N}$. Define the sequence $(a_n)_{n \ge -p+1}$ with the properties $a_k = 0$ for $k \in \{-p+1, -p+2, \ldots, -1\}$, $a_0 = 1$ and $a_{n+p} = \sum_{j=0}^{p-1} \alpha_j \cdot a_{n+j}$, $\forall n \ge -p+1$. By multiplying the above inequalities with a_k for $k = \overline{-p+1, n}$ and adding term by term

184

the obtained inequalities, we deduce

$$x \le \sum_{i=1}^p \gamma_i \cdot A^{n+p+i} x,$$

where $\gamma_i = \sum_{k=i}^{p-1} \alpha_k \cdot a_{n+p+i-k}$. The right hand part is convergent to $A^{\infty}x \cdot l \cdot \sum_{i=0}^{p-1} \beta_i$, where $\beta_i = \sum_{k=i}^{p-1} \alpha_k$ and l is the limit of the sequence $(a_n)_{n \ge -p+1}$. Due to

theorem (1.1) this limit exists and is equal to

$$\frac{\sum_{j=-p+1}^{0} \beta_j \cdot \alpha_{j+1}}{\sum_{j=0}^{p-1} \beta_j} = \frac{1}{\sum_{j=0}^{p-1} \beta_j}$$

so the assertion of theorem (1.3) follows.

Remark 1.1. An alternative solution is the following:

The operator $\sum_{i=0}^{p-1} \alpha_i \cdot A^{i+1}x$ is also a weakly Picard operator and for fixed xthe sequences of successive approximation $x_{n+1} = Ax_n$ with $x_0 = x$ and $y_{n+1} = \sum_{i=0}^{p-1} \alpha_i \cdot A^{i+1}y_n$ with $y_0 = x$, has the same limit so the abstract Gronwall inequality of theorem (4.1) from [12] implies the required inequality.

Remark 1.2. If $\alpha_1 = 1$ and $\alpha_i = 0$ for $i = \overline{2, p-1}$ we obtain theorem (4.1) from [12] (the abstract Gronwall inequality).

Remark 1.3. Theorem (1.2) is different from theorem (4.1) of [12] because the inequality $x \leq \sum_{i=0}^{p-1} \alpha_i \cdot A^{i+1}x$ doesn't imply the inequality $x \leq Ax$.

2. Applications

Theorem 2.1. If $K : [a,b] \times \mathbb{R} \to \mathbb{R}$ is a continuous and positive function, $\alpha, \beta, \alpha_1, \alpha_2$ are positive constants and $\alpha_1 + \alpha_2 = 1$ then the inequality

$$y(x) \le \alpha + \alpha_1 \beta \int_a^x K(x,s)y(s)ds + \alpha_2 \beta^2 \int_a^x K_2(x,s)y(s)ds + \alpha_2 \alpha \beta \int_a^x K(x,s)ds$$

implies $y(x) \leq y^*(x), \ \forall \ x \in [a, b], \ where \ K_2(x, s) = \int_s^x K(x, t)K(t, s)dt \ and \ y^* \ is \ the$ unique continuous solution of the equation $y(x) = \alpha + \beta \int_a^x K(x, s)y(s)ds.$

Proof. We consider the space of continuous functions X = C[a, b] and the operator $A: X \to X$ defined by $(Ay)(x) = \alpha + \beta \int_{a}^{x} K(x, s)y(s)ds$. Due to the given conditions this operator is an increasing Picard operator and

$$\alpha_1 \cdot Ax + \alpha_2 \cdot A^2 x = \alpha_1 \cdot \left(\alpha + \beta \int_a^x K(x, s)y(s)ds\right) + \\ + \alpha_2 \left(\alpha + \beta \int_a^x K(x, s) \left(\alpha + \beta \int_a^x K(s, t)y(t)dt\right)ds\right) = \\ = \alpha + \alpha_1 \beta \int_a^x K(x, s)y(s)ds + \alpha_2 \beta^2 \int_a^x K_2(x, s)y(s)ds + \alpha_2 \alpha \beta \int_a^x K(x, s)ds.$$

From theorem (1.3) we deduce the required inequality.

Theorem 2.2. If $K_{1,2} : [a,b] \times \mathbb{R} \to \mathbb{R}$ are continuous and positive functions, and they satisfy the conditions of theorem (2) from[1], $\alpha, \beta, \alpha_1, \alpha_2$ are positive constants and $\alpha_1 + \alpha_2 2 = 1$ then the inequality

$$y(x) \leq \alpha + \alpha_1 \beta \left(\int_a^x K(x,s)y(s)ds + \int_a^b K_2(x,s)y(s)ds \right) + \beta \alpha \alpha_2 \left(\int_a^x K(x,s)ds + \int_a^b K_2(x,s)ds \right) + \alpha_2 \beta^2 \left(\int_a^x K_1^{(2)}(x,s)y(s)ds + \int_a^b K_2^{(2)}(x,s)ds \right)$$

implies $y(x) \leq y^*(x), \ \forall \ x \in [a, b], \ where$

$$K_1^{(2)}(x,s) = \int_s^x K_1(x,t)K_1(t,s)dt + \int_a^b K_2(x,t)K_1(x,t)dt,$$
$$K_2^{(2)}(x,s) = \int_a^x K_1(x,t)K_2(t,s)dt + \int_a^b K_2(x,t)K_2(x,t)dt$$

and $y^*(x)$ is the unique solution of the equation

$$y(x) = \alpha + \beta \int_{a}^{x} K_1(x,s)y(s)ds + \beta \int_{a}^{b} K_2(x,s)y(s)ds.$$

Proof. Consider the operator $A:X \to X$ defined by

$$(Ay)(x) = \alpha + \beta \int_{a}^{x} K_1(x,s)y(s)ds + \beta \int_{a}^{b} K_2(x,s)y(s)ds.$$

Due to the given conditions this operator is an increasing Picard operator and

$$\begin{split} \alpha_1 \cdot Ax + \alpha_2 \cdot A^2 x &= \alpha_1 \cdot \left(\alpha + \beta \int_a^x K_1(x,s) y(s) ds + \beta \int_a^b K_2(x,s) y(s) ds \right) + \\ &+ \alpha_2 \left(\alpha + \alpha \beta \left(\int_a^x K_1(x,s) ds + \int_a^b K_2(x,s) y(s) ds \right) \right) + \\ &+ \beta^2 \left(\int_a^x K_1^{(2)}(x,s) y(s) ds + \int_a^b K_2^{(2)}(x,s) y(s) ds \right) \right) = \\ &= \alpha + \alpha_1 \beta \left(\int_a^x K(x,s) y(s) ds + \int_a^b K_2(x,s) y(s) ds \right) + \\ &+ \beta \alpha \alpha_2 \left(\int_a^x K(x,s) ds + \int_a^b K_2(x,s) ds \right) + \\ &+ \alpha_2 \beta^2 \left(\int_a^x K_1^{(2)}(x,s) y(s) ds + \int_a^b K_2^{(2)}(x,s) ds \right), \end{split}$$

where

$$K_1^{(2)}(x,s) = \int_s^x K_1(x,t)K_1(t,s)dt + \int_a^b K_2(x,t)K_1(x,t)dt,$$
$$K_2^{(2)}(x,s) = \int_a^x K_1(x,t)K_2(t,s)dt + \int_a^b K_2(x,t)K_2(x,t)dt.$$

3. A discrete analogous

Theorem 3.1. If the terms of the sequences $(a_k)_{k\geq 1}$ and $(b_k)_{k\geq 1}$ are positive numbers and they satisfy the following inequality:

$$a_n \le \alpha + \frac{1}{2} \sum_{j=1}^{n-1} b_j a_j + \frac{a}{2} \sum_{j=1}^{n-1} b_j + \frac{1}{2} \sum_{k=1}^{n-1} \sum_{j=k}^{n-1} b_j b_k a_k$$

then we have $a_n \leq \alpha \prod_{k=1}^{n-1} \left(1 + b_k + \frac{b_k^2}{2} \right)$.

Proof. From the given inequality we have $a_1 \leq \alpha$ and $a_2 \leq \alpha \left(1 + b_1 + \frac{b_1^2}{2}\right)$. For n = 3 we have

$$a_{3} \leq \alpha + \frac{b_{1}a_{1}}{2} + \frac{b_{2}a_{1}}{2} + \alpha \frac{b_{1}}{2} + \alpha \frac{b_{2}}{2} + \frac{b_{1}^{2}a_{1}}{2} + \frac{b_{1}b_{2}a_{1}}{2} + \frac{b_{2}^{2}a_{1}}{2} \leq \\ \leq \alpha \left(1 + b_{1} + \frac{b_{1}^{2}}{2}\right) \left(1 + b_{2} + \frac{b_{2}^{2}}{2}\right).$$

The general case follows by induction on n as the above case.

Remark 3.1. This inequality is a discrete analogous of theorem (2.1) for $\alpha_1 = \alpha_2 = \frac{1}{2}$. We give this case for the simplicity of the proof. The general case can also be treated.

References

- [1] András Szilárd: Subconvex sequences and the Banach contraction principle in print.
- [2] Bărbosu D., Andronache M.: Asupra convergenței şirurilor subconvexe; Gazeta Matematică, 1997:1, pag. 3-4.
- [3] Buică Adrianan: Princpii de coincidență și aplicații; PHD Thesis, 2000.
- [4] Istrăţescu V.: Fixed point theorems for convex contraction mappings and convex nonexpansive mappings; Libertas Mathematica, tomus I., pag. 151-165.
- [5] Pachpatte B.G.: On a new inequality suggested by the study of certain epidemic models; Journal of Math. Anal. and Appl. 195(1995), 638-644.
- [6] Pachpatte B.G.: Inequalities arising in the theory of differential and difference equations; Octogon Math. Mag. 1998(6):2, 36-42.
- [7] Panaitopol L., Drăghicescu I.C.: Polinoame și ecuații algebrice; Editura Albatros, 1980.
- [8] Pic Gh.: Algebră superioară; Editura didactică și pedagogică, 1966.
- [9] Rus A. Ioan: Ecuații diferențiale, ecuații integrale și sisteme dinamice; Transilvania Press, 1966.
- [10] Rus A. Ioan: Generalized contractions, Cluj Univ. Press, 2001.
- [11] Rus A. Ioan: An abstract point of view for some integral equations from applied mathematics, Proc. Int. Conf. on Nonlin. Syst., 256-270, Timişoara, 1997.
- [12] Rus A. Ioan: *Picard operators and applications*; Seminar on fixed point theory, Babeş-Bolyai University, Preprint3(1996).
- [13] Stefan M. Soltuz: Upon the convergence of subconvex sequences; Octogon Mathematical Magazine 6(1998):2, pag. 120-121.